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QUESTION 1

What are two reasons why it is effective to implement the internet service database (ISDB) in an SD-WAN rule?
(Choose two ) 

A. The ISDB is dynamically updated and reduces administrative overhead. 

B. The ISDB applies rules to traffic from specific sources, based on application type. 

C. The ISDB requires application control to maintain signatures and perform load-balancing. 

D. The ISDB contains the IP addresses and port ranges of well-known destinations. 

Correct Answer: AD 

 

 

QUESTION 2

Refer to the exhibit. 

Which two statements about the debug output are true? (Choose two) 

A. The debug output shows per-IP shaper values and real-time readings. 

B. FortiGate provides statistics and reading based on historical traffic logs. 

C. Traffic being controlled by the traffic shaper is under 100 KB/s. 

D. This traffic shaper drops traffic that exceeds the set limits. 

Correct Answer: CD 

 

QUESTION 3

Which feature enables SD-WAN to combine IPsec VPN dynamic shortcut tunnels between spokes and a static tunnel to
the hub? 

A. ADVPN 
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B. GRE 

C. SSLVPN 

D. OCVPN 

Correct Answer: A 

 

QUESTION 4

Which diagnostic command can you use to show interface-specific SLA logs for the last 10 minutes? 

A. diagnose sys sdwan log 

B. diagnose sys sdwan health-check 

C. diagnose sys sdwan intf-sla-log 

D. diagnose sys sdwan sla-log 

Correct Answer: D 

diagnose sys sdwan intf-sla-log -> shows only bandwidth utilization diagnose sys sdwan sla-log -> shows packet-loss,
latency, jitter, MOS 

 

QUESTION 5

What are the two minimum configuration requirements for an outgoing interface to be selected once the SD-WAN logical
interface is enabled? (Choose two ) 

A. Specify outgoing interface routing cost. 

B. Configure SD-WAN rules interface preference. 

C. Select SD-WAN balancing strategy. 

D. Specify incoming interfaces in SD-WAN rules. 

Correct Answer: AB 
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